\$1 The gamma function

For Resso, the gamma function is defined by $\Gamma(s) = \int_{0}^{\infty} e^{-t} t^{s-1} dt.$

This integral is absolutely convergent because near t = 0, the function t^{ReS-1} is integrable and for t (ange, e^{-t} is rapidly decreasing.

Lemma 9.1 For Res>0. we have

$$T(S+1) = ST(S)$$
.
Thus $T(n+1) = n!$ for $n = 0, 1, 2, \cdots$

Proof. Integrating by parts gives

$$T(S+i) = \int_{0}^{+\infty} e^{-t} s \, dt = -e^{-t} s \Big|_{0}^{+\infty} + s \int_{0}^{+\infty} e^{-t} s^{-1} \, dt = s \, \overline{l}^{7}(s).$$
Now it suffices to check $T(i) = l$ which is obvious.

Now it suffices to check T(1) = 1, which is obvious.

$$T(n) = \int_{0}^{+\infty} e^{-t} dt = |$$

<u>Theorem 9.2</u> the function T(S) has an amplitic continuous to a menomorphic function on C whose only singularities one simple poles at the neglective integers S = 0.-1... The residue of T at S = -4 is $(-15^{4}/4)$:

Proof. For
$$\text{Res} > -1$$
, define.
 $F_1(s) = \frac{T(s+1)}{s}$

Then Fi is meromophic in Ress-1 of which the only shepdentity is a shiple pole at s=0. The residue is

$$les_{S=0} F_{i}(S) = \lim_{S \to 0} T(S+i) = T(i) = 1$$

Moreover, for kes > 0, we have $F_{1}(s) = T(s)$ by Lema 9.1. So F_{1} is the autitic continuation of T(s) in kes > -1. Similarly, for any $m \in n^{*}$, we can extend T(s) to the hulf-plane (kes > -m by tabing $F_{m}(s) = \frac{T(S+m)}{1 + m}$

$$F_{\mathsf{M}}(\mathsf{S}) = \frac{\mathsf{S}(\mathsf{S}+\mathsf{W}) \cdots (\mathsf{S}+\mathsf{W}-\mathsf{W})}{\mathsf{S}(\mathsf{S}+\mathsf{W}-\mathsf{W})}$$

To evaluate the residue at S=-4, we need only to consider

$$\overline{F}_{NH}(S) = \frac{T(S+N+1)}{S(S+1)-\cdots(S+N)}$$

and calentarte that

$$\begin{aligned} \log_{S=-n} F_{ntt}(S) &= \lim_{S \to -n} \frac{T(S + u + i)}{S(S + i) \cdots (S + u - i)} &= \frac{i}{(-u)(-u + i) \cdots (-i)} \\ &= \frac{(-i)^{N}}{n!}. \end{aligned}$$

$$\frac{\$9,2 \text{ The functional equation}}{\text{Theom 9.3}}$$

$$\frac{\$9,2 \text{ The functional equation}}{\$9,5}$$

$$\frac{\$9,5}{\$9,5}$$

$$\frac{\$9,5}{\$9,5$$

Then we have

$$\sum_{n \in \mathbb{Z}} f(n) = \sum_{n \in \mathbb{Z}} \hat{f}(n)$$

<u>Proof</u>. Let $g(x) = \sum_{n \in \mathbb{Z}} f(x+n)$. Then g(x) is a continuous function with period 1. So the Fourier series for g(x) converges to g(x). Let

$$g(x) = \sum_{n \in \mathbb{Z}} C_n e^{2\pi i n X}.$$

Then we have

$$C_{u} = \int_{0}^{1} g(x) e^{-2\pi i n x} dx = \sum_{m \in \mathbb{Z}} \int_{0}^{1} f(m+x) e^{-2\pi i n x} dx$$
$$= \sum_{m \in \mathbb{Z}} \int_{m}^{m+1} f(x) e^{-2\pi i n x} dx = \int_{\mathbb{R}} f(x) e^{-2\pi i n x} dx = \hat{f}(n)$$

So we get

$$\sum_{n \in \mathbb{Z}} \widehat{f}(n) e^{2\pi i n x} = g(x) = \sum_{n \in \mathbb{Z}} \widehat{f}(x+n)$$

Lema 9.4 For
$$x > 0$$
, define the theta ceries
 $O(x) = \sum_{n \in \mathbb{Z}} e^{-\pi n^2 x}$

Then O(x) satisfies the following modular equation.

$$\Theta(x) = x^{-\frac{1}{2}} \Theta(x^{-1}).$$

<u>Proof</u>. Consider the function $f(u) = e^{-\pi u^2 x}$. Its Formier transform is

$$f(v) = \int_{\mathbb{R}} e^{-\pi u^2 x} e^{-2\pi i u v} du = \int_{\mathbb{R}} e^{-\pi x (u^2 + \frac{2v}{x}i)} du$$
$$= \int_{\mathbb{R}} e^{-\pi x (u + \frac{v}{x}i)^2 - \frac{\pi v^2}{x}} du$$
$$= e^{-\frac{\pi v^2}{x}} \int_{\mathbb{R}} e^{-\pi x (u + \frac{v}{x}i)^2} du$$

The last integral is the complex integral $\int_{L} e^{-\pi x z^2} dz$

where L is the infinite comment $(-\infty + \frac{V}{x}i, +\infty + \frac{V}{x}i)$. Note that

$$|e^{-\pi \chi z^2}| = |e^{-\pi \chi (Re z + i Im z)^2}| = e^{-\pi \chi ((Re z)^2 - (Im z)^2)}$$

is rapidly decreasing as $|\text{Re}\mathbb{Z}| \to \infty$. So we can move the contour to $(-\infty, +\infty)$, obtaining

$$\int e^{-\pi x (u + \frac{v}{x})^2} du = \int e^{-\pi x u^2} du = \frac{1}{\sqrt{\pi x}} \cdot \sqrt{\pi} = \sqrt{\frac{1}{2}}.$$

IR

Therefore, we have $\hat{f}(v) = \chi^{-\frac{1}{2}} e^{-\frac{\pi v^{2}}{N}}.$ By the Poisson summation formula, we have $\theta(x) = \sum_{n \in \mathbb{Z}} f(n) = \sum_{n \in \mathbb{Z}} \hat{f}(n) = \chi^{-\frac{1}{2}} \sum_{n \in \mathbb{Z}} e^{-\frac{\pi n^{2}}{N}} = \chi^{-\frac{1}{2}} \theta(\chi^{-1}).$

Corollary 9.5 Let
$$w(x) = \sum_{N=1}^{\infty} e^{-\pi N^2 x}$$
. Then we have
 $w(x^{-1}) = x^{\frac{1}{2}}w(x) + \frac{1}{2}(x^{\frac{1}{2}}-1)$.

$$\frac{Proof}{We have} \quad \Theta(x) = 2w(x) + 1 \quad So$$

$$w(x^{-1}) = \frac{1}{2}(\Theta(x^{-1}) - 1) = \frac{1}{2}(x^{\frac{1}{2}}\Theta(x) - 1)$$

$$= \frac{1}{2}(x^{\frac{1}{2}}(2w(x) + 1) - 1) = x^{\frac{1}{2}}w(x) + \frac{1}{2}(x^{\frac{1}{2}} - 1) \quad \Box$$

$$\frac{\text{Theorem 9.6}}{\pi^{-\frac{5}{2}} \pi(\frac{5}{2}) \cdot 5(s)} = \int_{1}^{\infty} w(x) \left(x^{\frac{5}{2}} + x^{\frac{1-5}{2}}\right) dx + \frac{1}{s(s-1)}$$

$$\frac{\text{Proof}}{\pi^{-\frac{5}{2}} \pi(\frac{5}{2}) \cdot x^{-5}} = (\pi n^{2})^{-\frac{5}{2}} \int_{0}^{\infty} e^{-t} \cdot \frac{5}{2} \frac{dt}{t} = \int_{0}^{\infty} e^{-t} (\frac{t}{\pi n^{2}})^{\frac{5}{2}} \frac{dt}{t}$$

$$(x = \frac{t}{\pi n^{2}}) = \int_{0}^{\infty} e^{-\pi n^{2}x} \cdot x^{\frac{5}{2}} \frac{dx}{x}$$

Summing over
$$n$$
, we get

$$\pi^{-\frac{5}{2}} \Gamma(\frac{5}{2}) J(s) = \int_{0}^{\infty} w(x) x^{\frac{5}{2}} \frac{dx}{x} = \left(\int_{0}^{1} + \int_{1}^{\infty}\right) w(x) x^{\frac{5}{2}} \frac{dx}{x}.$$
By Corollary 9.5, we have

$$\int_{0}^{1} w(x) x^{\frac{5}{2}} \frac{dx}{x} = \int_{1}^{\infty} w(x^{-1}) \cdot x^{-\frac{5}{2}} \frac{dx}{x}$$

$$= \int_{1}^{\infty} \left(x^{\frac{1}{2}} w(x) + \frac{1}{2}(x^{\frac{1}{2}} - 1)\right) x^{-\frac{5}{2}} \frac{dx}{x}.$$

$$= \int_{1}^{\infty} w(x) x^{\frac{1-5}{2}} \frac{dx}{x} - \frac{1}{2} \cdot \frac{1}{\frac{1}{2} - \frac{5}{2}} + \frac{1}{2} \cdot \frac{1}{-\frac{5}{2}}$$

$$= \int_{1}^{\infty} w(x) x^{\frac{1-5}{2}} \frac{dx}{x} - \frac{1}{5(1-5)}$$

Therefore, for Pes>1

$$\pi^{\frac{2}{2}}T(\frac{s}{2})Y(s) = \int_{1}^{\infty} w(x) \left(x^{\frac{s}{2}} + x^{\frac{1-s}{2}}\right) \frac{dx}{x} - \frac{1}{s(1-s)}$$

Since w(x) decreasing rapidly as $x \to +\infty$, the integral $\int_{1}^{\infty} w(x) \left(x^{\frac{5}{2}} + x^{\frac{1-5}{2}}\right) \frac{dx}{x}$

is absolutely conveyent hence defines an entire function.

Corollary 9.7 For ReS>1. define
$$\xi(S) = \pi^{\frac{2}{5}} \nabla(\frac{S}{2}) \xi(S)$$

Then $\Im(s)$ is holomorphic on ReS>1 and bees an analytic continention to all of C as a meromorphic function with simple poles at s=0 and S=1. Moreover,

Remark. The above analytic continuention of 3(5) gives that of 4(5). The equation

$$\pi^{\frac{2}{2}} T(\frac{2}{2}) Y(s) = \pi^{-\frac{1-2}{2}} T(\frac{1-2}{2}) Y(s)$$

is called the functional equation of S(S).

Corolloury 9.8 The only zeros of G(s) outside the strip 05 Ressi and at the negative even integers.

<u>Proof</u>. We know that (315) here no zero in Res>1. For Res<0. by the functional equation, we have

$$\Upsilon(\varsigma) = \pi^{\varsigma - \frac{1}{2}} \frac{T(\frac{1-\varsigma}{2})}{T(\frac{\varsigma}{2})} \Upsilon(1-\varsigma)$$

Note that

• Resco => Re(1-s)>0; • $\pi^{s-\frac{1}{2}}$ is entire, $T(\frac{1-s}{2})$ and g(1-s) are zero-free; • $\frac{1}{T(\frac{5}{5})}$ here zeros at $S = -2, -4, -6, \cdots$

The desired result follows.

The zeros outside the critical strip O < Res < 1 and called the trivial zeros of Y(S). The zeta function here infinitely many zeros in the critical strip. These zeros are called the non-tribial zeros of Y(S)

<u>Proposition 9.9</u> The non-trivial zeros of g_{1SS} are distributed symmetrically w.r.t. the lines $ReS = \frac{1}{2}$ and ImS = 0.

<u>Prof</u>. It suffices to show the non-tribial zeros of G(S) cive distincted cynneticely w.r.t. $S = \frac{1}{2}$ and InS = 0. The former one follows from the functional equation. To show the letter assertion. it suffices to prove

$$\mathcal{G}(\bar{s}) = \mathcal{G}(\bar{s})$$

This equation is clearly the for Res > 1. So it is the for all sec by the miqueness of analytic continuation.

Riemanis Hypothesis Every non-trivial zero of GISI is on the line Res= 2.

 \Box

We can also obtain some interesting fact from the familiand equartion of S(S). For example, we have

Proposition 9.10
$$\mathcal{G}(-1) \approx -\frac{1}{12}$$

Proof. By the functional equation, we have

$$\frac{Y(-1) = \pi^{-1-\frac{1}{2}} \frac{T'(1)}{\Gamma(-\frac{1}{2})} \quad y(2) = \frac{J\pi}{6} \cdot \frac{1}{\Gamma(-\frac{1}{2})}$$
By the functional equation of $T(s)$. we have

$$T(-\frac{1}{2}) = -2 T'(\frac{1}{2})$$

It remains to calculate $T'(\frac{1}{2})$. We have

$$\overline{(7(\frac{1}{2}) = \int_{0}^{\infty} t^{-\frac{1}{2}} e^{-t} dt} \qquad \underbrace{\frac{u=Jt}{dt=2udu}}_{0} \int_{0}^{\infty} \frac{1}{u} e^{-u^{2}} 2u du$$
$$= 2 \int_{0}^{\infty} e^{-u^{2}} du = \int_{-\infty}^{+\infty} e^{-u^{2}} du = \sqrt{\pi}$$

Thus

$$Y(-1) = \frac{\sqrt{1}\pi}{6} \cdot \frac{1}{\sqrt{1-\frac{1}{2}}} = \frac{\sqrt{1}\pi}{6} \cdot \frac{1}{-2\sqrt{1-\frac{1}{2}}} = -\frac{1}{12}$$